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1. 3199 g@RT AT TS F yEqd T 71T 3iia-eirget $e7 o 3R W 3 A gdem & fow smAta
T v @1 A e A9 arerg wiafe Y § o fremae & STerR 3R AeAar A8 @ & o

You have been called for the written test based on the online data furnished by you in the web application.
If_you have wrongly entered in the web any information or you do not possess the required
qualification as per our advertisement, your candidature will be rejected.

2. 9e-9F, 80 Tl A Yo WA-YRAR FFIH g 3R e r 3afTr 02 0 § |
The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.

3. 9R fawedl afte avafess yaR & e gl o @ O o ardfesw &9 9 @@ g |

The questions will be objective type with four options out of which only one will be unambiguously correct.

4, UAF 9T HiAT 04 3% g IR T AT Ical FTAT T ek HIST ST |
Each question carries 04 marks and one mark will be deducted for each wrong answer.

5. W % Joal & & TNT JTET9T HTAINR SeaR-qieetarr 2 smeef|
A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.

6. 3N, Ieaw-qRedet A T T el & 3w, Arefi/srel T & e g 9 A HTANR Ie-
a3 He e ifaer 1 3Rk FT% T Sca 1 T HT1 8

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen as per the instructions given in the answer sheet.

7. UH W F AU HAF Iock ITed AT JI0
Multiple answers for a question will be regarded as wrong answer.
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10.

1.

12.

13.

14.

15.

IR T Bl H A 9eA-GfETH 15 AN Jcay I X RfEse woms w foraay @ifyy)

Question booklet code printed on the top right comer should be written in the OMR answer sheet in the space
provided,

TI2T-G T & HTIRT A TUT ITshHiS TeT T |

Enter your Name and Roll Number correctly in the question booklet.

INTHAIR Sec-yiEer 7wl vfafeeat A T & aia arge ¥ & & 6 o kol

All entries in the OMR answer sheet should be with blue/black ball point pen only.

T gier 1 T dieTe 1 3ufeufer 7 €1 3qe! gler-feehe/PIIaTt U EEame a1 a1 T)

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

e, il 3T T Y 3R 78] & ety

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be
allowed inside the written test hall.

ollam ot ey . HITANR Feae-gRTw F U e Rrar & w13 3R AT A sea-gfeas
Fordverer Y |l qar gud wfer o o vt

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand
over the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

- qfeae 1t 3y ore T wea

The question booklet can be retained by the candidate.

et & SR e & et arsafEiat i odve gter otge Hr AT A ¥

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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TR &t (FeHEh) - 9€ H. 1399

TECHNICIAN B (PLUMBER) - POST NO.1399

1. PSR & ged & 9RAMT .. gl
Perimeter of a circle of radius R is
(a) 2mR (b) 4nR
(c) 2nR? (d) 4nR?
2. oSl HEit & fov yged apdi # fefef@d 8@ F TIgHE gH
faeror ffgaa gl

Pipes used in plumbing applications will have all of the following markings except
(a) GIST & HIBR/Pipe size

(b) fAHTTar & dF &7 FFE/Manufacturer’s brand name

(c) are fAuf/Pressure rating

(d) GISY &Y FETS/Length of pipe

3. ST & & fFAEE e, & AT g
One kilolitre of water is equal to
(@) 10 el litres (b) 1000 & litres
(¢) 100 e litres (d) 1200 e litres
4. U@E, SAEEE ¥ R S EART AT §l
--------- receives discharge from water closet, urinals
(a) AR YI3Y/Vent pipe (b) N7 ST UIgY/Rain water pipe
(c) 3HufIsT UT84/Waste pipe (d)  ¥&T [I$Y/Soil pipe
5. Cl 9rgdl & HeIROT ............... & faoae & et ST B
Corrosion in CI pipes are prevented by -------=---- coating.
(@) T&a/Tin (b) ﬁgﬁ?-ﬂ' Ue¢/Bituminous paint
(c) TS/Zinc (d) HFATA/Chromium
6. o ¥ FTSse GATIAT A e Hr afhar @@ o Fed B
The process which removes colloidal matter in water is ===-----------
(a) fAETGA/Filtration (b)  @MUTARA/Disinfection
(c) HTATEA/Sedimentation (d) ThIaT/Screening
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10.

11.

12,

13.

S 3gfd & e aigel & ol F fore frar amar g

Pipes for water supply are tested for

(a) &RUT/Leakage _ (b) TATAR/Dimensions

(c) cTTd/Pressure (d) 3'CI'€_5:T¢T THI/ALI of the above

3mqfda S O [AerRa Fee sEaifeass H REe= & T gy ufwar .. gl
The process used for the removal of dissolved carbon dioxide from the supply water is

(a) TEHEsT/Coagulation (b) W&/ Agitation

(c) 3IHdTEsA/Sedimentation (d) ardel/Aeration

L2 NS ' deraT gl

Alum increases

(2) ST FT FHSRA/Hardness of water (b) ST H FEAE/Carbonates in water
(c) ST & Tewe/Sulphates in water (d) ST H FAFFaAcidity of water

................... & TBSU & @RI ST H JFT ST FHT 2
Rusting can be prevented by applying coating of

(a) 2dd HrE/White lead (b) faEHAV/Bitumen

(c) el HA/Red lead @) o 3ifFargs/Zine oxide

9T H AN AT e F T H TIFT g gl

Turpentine oil is used in paints as

(a) HIETH/Vehicle (b) &IR/3MUR/Base

(¢) Ysheh/Drier (d) TYFFRV/Thinner

T T5F Al o dH B § NERET AGAT Bl SIS TN 8, oo FEolar gl
A street sewer into which sewer from house connections is poured is called

(a) Y AT Head sewer (b) HET HeleTcl/Main sewer

(c) HSH Helelol/Street sewer (@) UIRa% AdTcl/Lateral sewer

2 W AT U 30 HAT F 3T & WISd GE&IT & g 99 g, fAvder aw 27 §,

The sum of a two digit number and the number got by reversing the digits is 99, the absolute
difference is 27. Then, the number can be

@ 72 () 45 () 27 @ 36
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14,

15.

16.

17.

18.

19.

I YAl (F5w8) & WUROTAT Faed Terd ..., gl

Commonly used material for water mains is

(a) JIER™/RCC (b) Eear Sgl/Cast iron

(c) STITA/Steel (d) UﬂﬁﬁWIAluminium

.............. W H FEg A F IFa

----------- prevents entry of foul smell in to home

(@) S9/Trap (b) GaR/Vent

(c) S®/Bent @  3adwd TVAIl of these

ol AR 7 SRt 7 . YRR & QR HT 39heT fRar S
------------- Type of urinal is used in schools, theatres and factories

(a) Teld/Slab (b) THAIMEIN/Squatting

(c) d3cl/Bowl (d) TAH T FIS A€/None of these

fF 3RT s ¥ fafda ¥

Sink basin is made out of

(2) TAUES/Ceramic (b) -SRI SEUTA/Stainless steel

(c) TISa/Fibre (d) SH A FIS AG/AI of these

T TR W g A g F JaR0r F faw 99 & faw anaeas ... ¢, gfer e
Pumping head is the ------=-=------ required for a pump to transfer a liquid from one level to another
(a) TUAF M/Static head (b) TId/Pressure

(c) QI Velocity (d) TAN A FIF ALI/None of these

67, T 407, TF FY TS F I A AFEH F AT o, Uq T ITAeT BT
STl ¥l

--------- pump is used to lift water from depths of 6m to 40 m.

(@) THIR/Submersible (b) SNcTet

(c) 3TThgl/Centrifugal (d) SAPTH/Reciprocating



21.

22.

23.

24.

25.

.................. Fireded U F AH F AT AT &

--------- is known as contractors’ pump

(a) 39HEr 9q/Centrifugal pump

(b) EI'\UT & ¥ AHIAT q4/Fully submersible pump
(c) ST Yq/Jet pump

(d) WeITIAT 99/Reciprocating pump

TS U5 & 9fd SHES ST 9G¥ TR FF oo FEATT &1
--------- is the force acting on a body per unit area.

(a) cdIUT/Acceleration (b) A/ Velocity

(¢) &ld/Pressure (d) ==Tca/Density

T TEIT &F GoTed Bl oo garT aRenf¥a far e g

Density of a substance is defined as

(a) GETHTA/INATS / Mass/Volume (b) GSTATA/EYABE / Mass/Area
(c) 3IRIGA/ZETATA / Volume/Mass (d) &YTH/GSHAT / Area/Mass

faafafaa & @ Fia- v T & & s & gfwar §2

Which of the following is a permanent joining method?

(a) difeca/Bolting (b) E‘I‘EE';?T/Screwing
(c) desA/Welding () 3HA Y HIS AE/None of these
foror @il & fIT 78T ®7 @ 9TFT WG F IR .o, gl
The widely used type of sand for construction purpose is
(@) VPR FT Id/Sea sand (b) 3¢ T IG/Pit sand
() A {d/Fine sand (d) &Y FT ¥d/River sand
2 31 ]
(1 2 3) At Fr aRMOFH(BRFR) ... gl
31 2
2 3 1
Determinant of the matrix (1 2 3) is
31 2
(a 6 (b) 0 (c) 28 @ 12
6
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26.

27.

28.

29,

30.

31.

9 #H 93§66 & AU UgET R gl
The tool used for making threads on pipes

(a) YIST Scdh/Pipe cutter (b) UIBT =d/Pipe wrench

(c) T TIe/Ring spanner (d) Y 313/Pipe Dies

R ¥ HeR AT A, FATH A FEG ¥ T F PO RF G e e ¥
The devices which are used to prevent the escape of foul gases inside or outside the house are called
(a) TR gl/Flushing cisterns (b)  €U/Traps

(c) T&F/Sinks (d)  STY TS/Bath tubs

M goieg iRt # @ wawEed 99 H wdipd wE & U 35aH HER gl
Among the tools listed below, the ideal tool to tighten an HSH screw is

(a) 3TeteT FV/Allen key (b) P F/Crowfoot spanner

(c) T FrFIScrew driver (@) 9FH FTIA/Box spanner

MA2§6E # .o &

An M12 bolt has

(2) fReel#eT Y5/Millimeter thread (b) ST AfeH V3/1SO metric thread

(¢) @ As/Square thread (d) ITH ¥ P FdI/None of these

o9 diec & 35 A A das ¥ @fase frar siar 8, o Ueel 9RY U3 @ Iad

M12 x 1.75% UF aiec & OU fFda 98 &1 sEaaTe fohar Sreem?

For an M12 x 1.75 bolt with single start thread, how many threads will be engaged if the bolt is
inserted through a length of 35 mm?

(@) 20 ®) 12 © 17 @ 18

For a double-start thread
(@) o3, O q g E
Lead is twice the pitch
b) T, Sz q g R
Pitch is twice the lead
(c) URAF ST IS aU 30 915 U A5 &/
There are two threads at the start and one thread thereafter
@ FREFTH YRS A

None of the above
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32.

33.

34,

35.

A T B dleT gl M12x 181 Slec A10.938 =1 & 2T diec B 12.9 38 11 H=faf@g
H & Fla-r 3fFarar agr &2

Bolts A and B are both M12 x 1. Bolt A is of 10.9 grade and Bolt B is of 12.9 grade. Which of the
following statements is/are true?

(a) Slec AFFoc B Y M g WHg AL &
Bolt A has higher yield strength than Bolt B

(b) Sieg AA e B A Al 3TUR AR I5=T 87T &
Bolt A has higher load-carrying capacity than Bolt B

© ST
All of the above

@ FRFTIAYRS o =

None of the above

yETEdt ARF IS H o, F AT §)

ISO Metric thread has an angle of

(@) 29° by 60° () 45° @ 30°
& & & 38F . & zarg ¥ fafdse frar smar &)

A rivet is specified by the diameter of its

(a) 2M¥/Head

(b) TES/Tail
(¢) NF/Shank
(d) BAH § FI T/ None of the above

U 9T 98 & RNg carw & A4 T I9JET F A F1 Fehar T

Pitch diameter of an external thread is measured using

(a) aAIX FHAR/Vernier calliper

(b) TERMAT AS/Screw pitch gauge

() T ATSHIFCY/Screw thread micrometer
(d) 93 RET A5/ Thread ring gauge

8 1399



36.

37.

38.

39.

40.

41.

Ueh diec 98 & M12 x 1- 5g 6g &7 & Rfese fF=ar Jar 1 38T |
A bolt thread is specified as M12 x 1- 5g 6g. Here

(@ 5., e eare & v eaan Soft qurean., JET ey & v Fegdr Aof H1 uidr #)

5g denotes tolerance class for pitch diameter and 6g denotes tolerance class for major
diameter.

(b) 5., FEA T & forw wearar Aof qar 67, sarg o fore Fear Avfr & geifar g

5g denotes tolerance class for major diameter and 6g denotes tolerance class for pitch
diameter.

(c) ST HSHAASTAT 6 AA F AT ¢
Mass of the bolt is in between 5 grams and 6 grams.

(d) I9dFd H A RS A adh

None of the above.

% 95 fhT A0 gETEEA A, wEEd @ Al 93 & @ duh giar g

In a threaded assembly, contact between male and female threads takes place at the
(a) 2/Shanks (b) WolF/Flanks (¢) ®H/Roots (d) HECH/Crests

.............. AT Y AT StecdT gl

--------—- is the standard voltage in India

(@) eoumEsfoner Ufa A%E X 1108ee/110 volts at 60 cycles per second
(b) 6oTTSfRer gfar BFHs T 120atee/120 volts at 60 cycles per second
(c) 50TTSTRT UfT ¥Hs W 220a1e€/220 volts at 50 cycles per second
(@) 40uEfRa 9fa Fhs 9T 22081ee/220 volts at 40 cycles per second

$IRT &I HGeT ........... & frar I B

Current is measured in

(@) a@rec/Volt (b)  HH/Ohm

(¢) UfFTaT/Ampere (d) Elcf??iﬂ'lCoulomb
T Al AT FFAT oo A sy & ST B

A fresh sewage become stale in
(@) 1 =hour (b) 3 EBe/hours (c) 6-8ud/hours  (d) 24-36€R/hours

W F e, s, =9 g v & Afos J@ 9 S o9 B ued W F o

LT o S gl

---------- traps are used for receiving waste water from kitchen, sinks, baths and rain and surface
water from house

(a) 3TaATTAHI/Gully (b)  ®/Floor
() 3TRYei/Intercepting (d) =gdshH/Reverse

9 1399



42.

43.

44.

45.

46.

47.

48.

Sel 3Tqfel UIgy eEel F ag Had dred H e I g

™~
Air relief valves are provided in water supply pipe lines at

(a) ©TIST &/Pipe bends (b) 9IBT HW/Pipe joints

(¢) TIWIYSummits (d =T dige/Low points

A, o, o fa@mn Smar gl

Bricks are laid

(a) BT FI FW TW/with frog up (b) W F A @/ with frog down

(c) WPIT Y HI¥ H TW@/with frogonside (d)  WRIET HT THT TW/with frog on face

IRERT & AT Fhie =1 [eaad 92 ... g 9ifgvl

Minimum grade of concrete for RCC should be

(a) MIlo (b) MI5 (c) M20 (d M25
Th 897 7 3ucsy AT i AT .. gl

Quantity of cement contained in one bag is

(@) 20fF.am/ke. (b) 55fRam/ke.

(¢) 30FFam/Akg. (d sofFam/ke.

ot ST arge F RfAEIA FEReEEr ... H e e g

The specification for a storage water heater is normally given in

(@) @i litres (b) AT/ Waits

(c) aree/Volts (d) 3EH ¥ F1F AL/None of these
UG U STl B IR EE JHiFdea BaAE @EnE) gl TIfgw
Biochemical Oxygen Demand (BOD) of safe drinking water must be

(a) YT/l (b) 20 {¢) 25 @d 5

Ife v ey wE A, we vd AAe H1 gE & @ F oHor A 4015 &, ar angda

THT FAT &1 Fhal &2

If in an ideal clock, the measure of the angle between the hour and minute hands is 40 deg., what

can be the time ideally?

(8) 06:40 Ee/hrs (b)  09:40 T/hrs
(c) 01:20 Te/hrs (d) 10:45 ©/hrs
10
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49, T MY &1 AT ............ Bl

Static Head means

(a) ©YUT & HROT A g Fr &7l

Loss of water pressure due to friction.

(b) TTSTESST % fondlr e foig TR e Afrehry oY To o i Seae A 3R

Difference in elevation between any point on the pipeline and the dynamic head level
(c) Sromrel # Tafr falgt & oy axfey i el iy foua

Imaginary lines that plots the head loss of all points in the system
(d) IIETCTSH # Teh feig U Tfch STeT T & e SeTae H HeR

Difference in elevation between a point on the pipeline and the static water level

50. SR H 39y W faiere ol (eenfaior u3sy) # whea #alleT i amr ... gl

Active chlorine in commercial domestic bleaching powder is typically about
(@ 15% (b) 29% () 33% d) 40%

51. UH U9 AR A g MY 25 FFamAMz ¥ 3ed gE ¥ @A R o

The pressure head in a pipe line is 2.5 kg/cm?2, The equivalent static head of the above
pressure is

(@ 0.25%)./m (b) 2.5#/m () 25#L/m (d) 250 Fr./m
52. WiHe Pl FEE TOHIS (FEFAIR) ST I FAlTF Sl .oooverrennes gl

The standard length of stoneware pipe excluding its socket is
(@ 50F.FA/m () 0FFA/Sm () 75TH/em (d) 90H{.H./em

53. AR ¥ & Tgware ARt & AT FiA-H ATOT Jumelr FH IuGFT &7

Which distribution system is most suitable for cities which are growing irregularly?
(a) T @S WoMell/Dead End System (b)) 318 &g WOWe/Grid Iron System
(c) 3T WoTel/Radial System (d) Eli:‘l)’c‘-l’ QUITET/Circular System

54. TT: 2P I WeT Flet & TIT, 150 R A s Fusa & ... $I gelTeT BT AR

For achieving self cleaning velocity, 150 mm dia pipe should have a slope of

@@ 1:35 (b) 1:40 © 1:50 @ 1:60
55. few (i __33) (;) = (ll)a'a-ﬂamrr HxTyF AT o, gl
Given@ _33) (':,) = (';1), the value of x and y is
@ 1,-1 ) -1,1 € ;] @ 1,1

B 11 1399



56,

27.

58.

59.

60.

61.

62.

‘CAHTH g FT Y FIAT 82
What is the meaning of the word Plumbum?

(a) Te&/Tin (b)  TS/Zinc
(¢) d€T/Copper (d) 3/Lead

18 m3 FT &THAT aTelT Tk ST ¢ehl HI HaAfdar aleg &1 0.3 /A, & WaIg g7 9T @1

AT §| e A e & o sfaa g T . gl

The inlet valve of a water tank of capacity 18 m® is set at a flow rate of 0.3 litres /sec. The time
required to fill the tank is

(@) 10 ./min (b) 100 f&./min () 1000 /min (d 1800 fA./min
ST | o & ufeufa #rogar ... F 3IUGET 9T ST Fehal Bl

The presence of lead in water can be detected by using
(a) UETAAHA THATIAC/Potassium permanganate
(b) FEHIReF 3Fcl/Sulphuric Acid

(c) 3O/ Ammonia

(d) eERFAIRS 31Fal/Hydrochloric Acid

YEIFT T B TH FHG ..o & gHEA §l

One unit of purified water is equivalent to
(a) 10 s litres () 100 S litres
(¢) 1000 eelitres (d) 10000 e litres

UF geclT Aol QT & FEAFN F&T H Roiad a0 ....... gl @ifew|

The minimum diameter of working chamber of a circular manhole should be
(@ 0.5AT./m (b) 0.9 #H./m (© 1.2 #A/m (d 4.2 #A/m

WHe Fhie F 1 miFPT eI T ... gl

The mass of 1 m® of cement concrete is
(@) 1000 fRram/kg (b) 2000fF.amikg () 2500@Fam/kg (d) 3000 FF.aT/kg

I8 H ST HeT € 3cUeed BT §, FF coovvrreneenrans el
Water hammer is caused in pipe lines when

(a) STl 39 g1 & 37T Tarfgd gicil &/ Water flows under high pressure

(b) dTed T TU/AW I AT &6, Y [GAT ST 8/Valves and taps are closed suddenly
(c) dared T ¢ FI AT @il AT ATAT &/ Valves and taps are opened suddenly

(d) 394FT H & IS 71/ None of the above
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63.

64.

65.

66.

67.

68.

The best system of artificial ventilation is

(a) TA-9ET/Ceiling fans b a7 ofraeleR/ Aiir coolers
(c) dTdlsihelsl/Air conditioning (d) 9UIGH YHR & UQ/Propeller type fans
HETS FORAT oo g fAerg o ahdr §

Temporary hardness can be removed by

(2) &R& RafAsa gfha/Base Exchange process
(b) feeesT/Filtration

(c) EhI=IaT/Screening

(d) FTUF/Boiling

Ife V, URY @ YAE H AT § AU A HTIET FIC STGA §, Al s a3 &
IYART F YA & &7 Q F IRFoAT fhar Frar §1

If V is the velocity of flow through a pipe and A is the area of cross section, the rate of flow, Q is
calculated using the formula

(@ Q=V*A (b) Q=V/A () Q=V+A d Q=V-A
alfed Felslel 3TAR FIF H HAFSA F 56 W agaidlel bt d 3w garedf & .........
Fed Bl

Greasy and other substances which float at the surface of the sewage in a sewage treatment plant is
called

(a) 3T9/Sludge (b) HAfeT JT/Sullage

(c) HAFA/Scum (d) T HURASE/Soil waste
150 fA.AY. rvariRer asT & AU & 9 3w wEurar . gl
Maximum Gradient given for 150 mm Drain pipe

(@ 1:75 (b) 1:40 (¢) 1:30 @ 1:50

gfaETa AT % - 12x + a = 0 TF Hel, 377 & fOET &1 a & AF.......... gl

~

One root of the quadratic equation x — 12x + a = 0 is thrice the other. The value of “a” is
(@ 29 by 27 (0 28 @ 27

13 1399



69.

70.

71.

72.

73.

74,

uﬁAmﬂmmm%ummaﬁmﬁamﬂm

.............. gl

If A is area of cross section of flow and P is the wetted perimeter, Hydraulic mean depth (R) is
(a) R=A/P (b) R=P/A (c) R=P*A (d) R=A+P
ST 7 Al e AT e ed glar gl

For floating impurities in water, density is

(a) i ¥ FH/less than water (b) A ¥ FIE/More than water
(c) I & THA/Equal to water @ sSIHY El-ﬂ? sT&1/None of these
St 7 faaf@a aEar e el

Dissolved impurity in water

(a) Mg (b)  Fel/Clay

(c) SFORTN/Bacteria (d) 3IH ¥ TS 7AGI/None of these
ST | HTAS FORAT .o F FROT gl

Temporary hardness in water is due to

(a) FformA FEfIc/Calcium Carbonate (b))  #Hie=IH Hewhe/Calcium Sulphate
(c) YT gIB3ITEE/Ferrous hydroxide (d) STH ¥ HIS AGI/None of these

Oy 9§ 45% % AIROT U7 O, 450 TqC A AN A AT & ST H 81390 =4 &
T fra=n TAT SAem?

How much time will it take for an amount of Rs.450 to yield Rs.81 as interest at 4.5% per annum of
simple interest?

() 3.59rellyrs (b) 4 "rellyrs (¢) 4.59reAlyrs (d) 5 Grellyrs
o fr afedl F g f s T AW o ZarT WiAa forar smar g
Water seal of traps in the house drainage is preserved by

(a) W9UTdl/Gradient (b) Ufe %S/ Anti-Siphonage

() GaR 4rg4/Vent pipe (d S5 ¥ s 7Tel/None of these
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75.

76.

77.

78.

79.

80.

31 ATGAT e 1 Ufafaftca a=ar &
3:1 scale represents
(a) fa@oT HO=l/Diagonal scale (b)  YUT TR ATGA/Full size scale
(c) Taaftia AM=f/Enlarged scale (d) HYFHT AeA/Reduced scale
IFAY foemas # pH & AR giar B
Acidic solution has pH value
(@) 79 FAEI/More than 7 (b) 7% HH/Less than 7
(c) 7% HAF/Equal to 7 (d) FTH § IS AL/None of these
tF AT FF (T ) .. gl
Sullage is
(2) THISEX ¥ g FUsl/Liquid waste from kitchen
(b) TEEEX ¥ B Fa=I/Solid waste from kitchen
(c) UsH ¥ gd HTSV/Liquid waste from roads
(d) TSH ¥ ST FASM/Solid waste from roads
FeaTtR yarg fdT ... & fav gaeFa & g
Vertical flow basin is used for
(@) TAEhEsT/Filtration (b)y  drdel/Aeration
(¢) HddIGs1/Sedimentation (d) B8 & FIF AL/None of these
YaaA(wrgTolen), e (Faftdan), Ewaiss & el oF G # wFet & v ...
FT 39T AT ST §
----------- is used for holding the work piece during filing, chipping and hack sawing
(a) UTSY arsH/Pipe vice (b) TEGAS ST AZA/Swivel base vice
(c) T TISH/Bench vice (d) FMT arEA/Machine vice
FFIE # AT & R T U foRar Smar g
Markings on the work piece is made by using
(a) Yd/Punch (b) T&Ra/Scribers
(c) TR/ Calipers (d) FEer Fcl/Steel rules
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&= i & fau vuE / Space for rough work
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